# Complement Properties on Normal Product of Strong Fuzzy Graphs

## M. Vijaya

Department of Mathematics, Marudupandiyar College, Thanjavur-613403, Tamilnadu, India

**Abstract**: In this work we introduce the normal product of fuzzy graphs, normal product of strong fuzzy graphs and Complement Properties on normal product of strong fuzzy graphs are discussed.

Keywords: Fuzzy graph, Complement of fuzzy graph, strong fuzzy graph, Normal product, Normal product of two strong fuzzy graphs

#### 1. Introduction

Rosenfeld [3] introduced fuzzy graph in 1975. The operations of Cartesian product, compositions of fuzzy graphs were defined by Moderson.J.N and peng.C.S [6]. In this note, we discuss a sub class of fuzzy graphs called strong fuzzy graph which were introduced by Moderson.J.N and peng.C.S [6]. In this paper we introduced the normal product of fuzzy graphs. In the present study we have been introduced the normal product of fuzzy graphs. The operations on (crisp) graphs such as Cartesian product, composition, tensor, and normal products are extended to fuzzy graphs and some of their properties are incorporated to investigate. Properties found are related to complement of fuzzy graph and strong fuzzy graph.

#### 2. Basic Definitions

**Definition 2.1** Fuzzy graph with S as the underlying set is a pair G:  $(\sigma, \mu)$  where  $\sigma: S \rightarrow [0,1]$  is a fuzzy subset,  $\mu:S \times S \rightarrow [0,1]$  is a fuzzy relation on the fuzzy subset  $\sigma$ , such that  $\mu(x,y) \leq \min \{\sigma(x), \sigma(y)\}$  for all for all  $x, y \in S$ .

**Definition 2.2** Let  $(\sigma, \mu)$  be fuzzy sub graph of G = (V, X). Then  $(\sigma, \mu)$  is called a strong [6] fuzzy graph of G if  $\mu(u, v) = \sigma(u) \land \sigma(v)$  for all  $(u, v) \in X$ .



Figure 1: Strong fuzzy graph

**Definition 2.3** The complement of a fuzzy graph  $G^c : (\sigma^c, \mu^c)$  where  $\sigma^c = \sigma$  and  $\mu^c(uv) = 0$  when  $\mu(uv) = 0$  and  $\mu^c(uv) = \sigma(u) \Lambda \sigma(v) - \mu(uv)$  when  $\mu(uv) > 0$ .

**Note:**  $(G^c)^c = G$  if and only if G is a strong fuzzy graph.

 $\begin{array}{l} \textbf{Definition 2.4} \ \text{The normal Product of two fuzzy graphs } (\sigma_i, \\ \mu_i) \ \text{on } G_i = (V_i, X_i), \ i=1,2 \ \text{is said to be a fuzzy graph } G_1 \circ G_2 \\ = (\sigma_1 \circ \sigma_2, \mu_1 \circ \mu_2) \ \text{on } G = (V,X) \ \text{where } V = V_1 \ X \ V_2 \ \text{and } X \\ = \ \{(u,u_2)(u,v_2) \ / \ u \in \ V_1, \ _1,u_2v_2 \ \in X_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w)(v_1,w) | u_1v_1 \in X_1, w \in V_2\} \cup \{(u_1, w)(v_1,w)(v_1$ 

u\_2)(v\_1,v\_2) \u\_1 v\_1 \in X\_1, u\_2 v\_2 \in X\_2 \}. Let  $\sigma_i$  be a fuzzy subset of  $V_i$ 

and let  $\mu_i$  be a fuzzy subset of  $X_i$ , i=1,2. Define the fuzzy subsets  $\sigma_1 \circ \sigma_2$  of V and  $\mu_1 \circ \mu_2$  of X as follows.

 $(\sigma_1 \circ \sigma_2) (u_1, u_2) = \{(\sigma_1(u_1) \land \sigma_2(u_2))\}$  for all  $(u_1, u_2) \in V$  $(\mu_1 \circ \mu_2) \{(u, u_2)(u, v_2)\} = \{\sigma_1(u_1) \land \mu_2(u_2v_2)\} u \in V_1$  and  $u_2v_2 \in X_2$ 

 $(\mu_1 \circ \mu_2) \{(u_1, w)(v_1, w)\} = \{ \mu_1 (u_1v_1) \land \sigma_2 (w_2) \} u_1v_1 \in X_1$ and  $w \in V_2$ 

 $\begin{aligned} (\mu_1 \,\circ\, \mu_2) \, \{ (u_1,\, u_2)(v_1,\, v_2) \} = \big\{ \, \mu_1 \,\, (u_1 v_1) \wedge \, \mu_2 \,\, (u_2 v_2) \} \,\, u_1 u_2 \in \\ X_1 \, \text{and} \,\, v_1 v_2 \in X_2 \end{aligned}$ 

#### 3. Properties

Normal product of two strong fuzzy graphs 3.1 The normal product of two strong fuzzy graphs ( $\sigma_i$ ,  $\mu_i$ ) on Gsi =  $(V_i, X_i)$ , i=1,2 is said to as a strong fuzzy graph  $G_{s_1} \circ G_{s_2} = (\sigma_1 \circ \sigma_2, \mu_1 \circ \mu_2)$  on G = (V,X) where V= V<sub>1</sub> X V<sub>2</sub> and X ={ $((u,u_2)(u,v_2)) \setminus u \in V_1, (u_2,v_2) \in X_2$ } U { $((u_1,w)(v_1,w)) \setminus (u_1,v_1) \in X_1, w \notin V_2$ }U{ $((u_1, u_2)(v_1, v_2)) \setminus (u_1,v_1) \in X_1, (u_2,v_2) \in X_2$ }. Fuzzy sets  $\sigma = \sigma_1 \circ \sigma_2$  and  $\mu = \mu_1 \circ \mu_2$  are defined as  $\sigma(u_1, u_2) = (\sigma_1 (u_1) \land \sigma_2(u_2)) \mu$ { $(u_1, u_2), (u, v_2)$ } = { $\sigma(u_1, w) \land \sigma(v_1, w)$ }  $\mu((u_1,v_1),(u_2,v_2)) =$  { $\sigma(u_1, v_1) \land \sigma(u_2,v_2)$ }

 $\begin{array}{l} \text{Theorem 3.2 Let } G_{s1}:(\ \sigma_1,\ \mu_1) \ \text{and } G_{s2}:\ (\sigma_2,\ \mu_2) \ \text{be two} \\ \text{strong fuzzy graphs. Then } G_{s1} \circ \ G_{s_2} \ \text{is a strong fuzzy graph.} \\ \text{Let } G_{s_1} \circ \ G_{s_2} = G:(\sigma,\mu) \ \text{where } \sigma = \sigma_1 o \ \sigma_2, \ \mu = \ \mu_1 \circ \mu_2 \ \text{and } G^* \\ = (V,E) \ \text{where } V = V_1 \ x \ V_2 \ , \ E = \{(u,u_2)(u,v_2): u \in \ V_1, u_2v_2 \in E_2\} \cup \ (u_1,w)(v_1,w): w \in \ V_2 \ , u_1v_1 \in E_1\} \ \cup \ \{(u_1,u_{2)}(v_1,v_2): u_1v_1 \in E_1, u_2v_2 \in E_2\}. \ \text{case } 1. \ \mu((u,\ u_2)\ (u,v_2)) = \sigma_1(u) \ \land \ \mu_2 \ (u_2,v_2) \\ = \sigma_1(u) \ \land \ (\sigma_2(u_2) \ \land \ \sigma_2(v_2)) \ \text{since } \ G_{s2} \ \text{being strong.} = (\sigma_1(u) \\ \land \ \sigma_2(u_2)) \ \land \ (\sigma_1(u) \ \land \ \sigma_2(v_2)) = (\sigma_1o \ \sigma_2)(\ u,u_2) \land \ (\sigma_1o \ \sigma_2) \\ (u,v_2) = \sigma(u,\ u_2) \ \land \ \sigma(u,\ v_2) \end{array}$ 

case 2.  $\mu$  (u<sub>1</sub>, w) (v<sub>1</sub>, w) =  $\sigma_2$  (w)  $\land \mu_1$  (u<sub>1</sub>, v<sub>1</sub>) =  $\sigma_1$  (u<sub>1</sub>)  $\land \sigma_1$  (v<sub>1</sub>)  $\land \sigma_2$  (w), since  $G_{s_1}$  being strong. = ( $\sigma_1$  (u<sub>1</sub>)  $\land \sigma_2$  (w))  $\land (\sigma_1$  (v<sub>1</sub>)  $\land \sigma_2$  (w)) = ( $\sigma_1 \circ \sigma_2$ ) (u<sub>1</sub>, w)  $\land (\sigma_1 \circ \sigma_2)$  (v<sub>1</sub>, w) =  $\sigma$  (u<sub>1</sub>, w)  $\land \sigma$  (v<sub>1</sub>, w) case 3.  $\mu$  (u<sub>1</sub>, u<sub>2</sub>) (v<sub>1</sub>, v<sub>2</sub>) =  $\mu_1$  (u<sub>1</sub>, v<sub>1</sub>)  $\land \mu_2$  (u<sub>2</sub>, v<sub>2</sub>) = ( $\sigma_1$  (u<sub>1</sub>)  $\land \sigma_1$  (v<sub>1</sub>))  $\land (\sigma_2$  (u<sub>2</sub>)  $\land \sigma_2$  (v<sub>2</sub>)), since  $G_{s_1}$  being strong. = ( $\sigma_1$  (u<sub>1</sub>)  $\land \sigma_2$  (u<sub>2</sub>))  $\land (\sigma_1$  (v<sub>1</sub>)  $\land \sigma_2$  (v<sub>2</sub>)) = ( $\sigma_1 \circ \sigma_2$ ) (u<sub>1</sub>, u<sub>2</sub>)  $\land (\sigma_1 \circ \sigma_2)$  (v<sub>1</sub>, v<sub>2</sub>) =  $\sigma_1 \circ \sigma_2$ ) (u<sub>1</sub>, u<sub>2</sub>)  $\land (\sigma_1 \circ \sigma_2)$  (v<sub>1</sub>, v<sub>2</sub>) =  $\sigma_{11}$ , u<sub>2</sub>)  $\land \sigma$  (v<sub>1</sub>, v<sub>2</sub>). Thus from above cases it follows that G=  $G_{s1} \circ G_{s_2}$  is a strong fuzzy graph.

<u>www.ijsr.net</u> Licensed Under Creative Commons Attribution CC BY

Volume 4 Issue 7, July 2015

#### Example 3.3



From fig 2 implies  $G_{s1} \circ G_{s_2}$  is the normal product of two strong fuzzy graphs is also a strong fuzzy graph.

From the above figs

 $\begin{array}{l} \mu((u_1, u_2)(v_1, u_2)) = \sigma(u_1, u_2) \land \sigma(v_1, u_2) = .6 \land .6 = .6 \\ \mu((u_1, v_2)(u_1, w_2)) = \sigma(u_1, v_2) \land \sigma(u_1, w_2) = .4 \land .5 = .4 \end{array}$ 

Similarly finding the membership value of all the edges, we get a strong fuzzy graph. Hence the normal product  $G_{s1} \circ G_{s2}$  of two strong fuzzy graphs  $G_{s1}$  and  $G_{s2}$  is also a strong fuzzy graph.

**Theorem 3.4** If  $G_{s1}:(\sigma_1, \mu_1)$  and  $G_{s2}:(\sigma_2, \mu_2)$  be two strong fuzzy graphs then  $\overline{Gs_{f}Gs_{2}} = \overline{Gs_{1}} \circ \overline{Gs_{2}}$ **Proof:** Let  $G_{s1}:(\sigma_1, \mu_1)$  and  $G_{s2}:(\sigma_2, \mu_2)$  are strong fuzzy graphs.  $\overline{G}:(\sigma,\overline{\mu}) = \overline{Gs_{1}} \circ \overline{Gs_{2}} \ \overline{\mu} = \overline{\mu_{1}} \circ \mu_{2}$ ,  $\overline{G}:(V,\overline{E}) \ \overline{Gs_{1}}$  $(\sigma_1,\overline{\mu_1}) = \overline{G_1} \ (V_1,\overline{E_1}) \ \overline{Gs_{2}}(\sigma_2,\overline{\mu_2}) = \overline{G_2} \ (V_2,\overline{E_2}) \ \overline{Gs_{1}} \circ \overline{Gs_{2}}:(\sigma_1 \circ \sigma_2,\overline{\mu_1} \circ \overline{\mu_2})$  Now, the various types of edges say e, joining the vertices of V are the following and it suffices to prove that  $\overline{\mu f \mu_{2}} = \overline{\mu_{1}} \circ \overline{\mu_{2}}$  in each case. Case(i)  $e^{-(\mu_1\mu_2)(\mu_1\nu_2)} \ \mu_{2\nu}\nu_{2\nu} \in \overline{E}$ . Then  $e \in \overline{E}$  and G being strong

e=(u,u<sub>2</sub>)(u,v<sub>2</sub>) u<sub>2</sub>v<sub>2</sub> ∈ E<sub>2</sub> Then e ∈ E and G being strong hence  $\overline{\mu}$  (e)=0 Also ( $\overline{\mu_1} \circ \overline{\mu_2}$ )(e)=0 u<sub>2</sub>v<sub>2</sub>  $\theta'E_2 = \overline{\mu}$  (e). Case (ii)

e=(u,u<sub>2</sub>)(u,v<sub>2</sub>)  $u_2 \neq v_2$  and  $u_2v_2 € E_2$  Then e € E, so µ(e)=0 Now  $\overline{\mu}$  (e) = σ(u, u<sub>2</sub>) ∧ σ (u, v<sub>2</sub>)

$$= [\sigma_1(u) \land (\sigma_2(u_2)] \land [(\sigma_1(u) \land \sigma_2(v_2)]$$

 $= \sigma_1(u) \wedge [\sigma_2(u_2) \wedge \sigma_2(v_2)] u_2 v_2 \textcircled{\bullet} E_2 (\overline{\mu_1} \circ \overline{\mu_2})(e) = \sigma_1(u) \\ \wedge \overline{\mu_2} (u_2 v_2)$ 

 $= \underline{\sigma_1(u) \land [\sigma_2(u_2) \land \sigma_2(v_2)]}$ 

 $= \overline{\boldsymbol{\mu_1^{\circ} \, \mu_2}} (e)$ 

Case(iii)  $e = (u_1,w)(v_1,w) \ u_1v_1 \in E_1$  Here  $e \in E$  and  $\overline{\mu}$  (e)=0 Also  $u_1v_1 \in \overline{E_1}$  Hence  $(\overline{\mu_1} \circ \overline{\mu_2})(e) = 0$ Case(iv)  $e = (u_1, w)(v_1, w) u_1 v_1 \in E_1$  Here  $e \in E$ , so  $\mu(e)=0$  and  $\overline{\mu}$  (e) =  $\sigma(u_1, w_2) \wedge \sigma(v_1, w)$  $= [\sigma_1(u_1) \land (\sigma_2(w)] \land [(\sigma_1(v_1) \land \sigma_2(w)]$  $= [\sigma_1(u_1) \land \sigma_1(v_1)] \land \sigma_2(w)$ Also u<sub>1</sub>v<sub>1</sub> ∉ E<sub>1</sub>  $(\overline{\mu_1} \circ \overline{\mu_2})(e) = \overline{\mu_1} (u_2 v_2) \wedge \sigma_2(w)$  $= [\sigma_1(u_1) \wedge \sigma_1(v_1)] \wedge \sigma_2(w)$  $=\overline{\mu}(e)$ Case(v)  $e=(u_1,u_2)(v_1,v_2)$   $u_1v_1 \in E_1$ , and  $u_2v_2 \in E_2$  Here  $e \in E$  and  $\overline{\mu}$ (e)=0 Also since  $u_1v_1 \notin \overline{E_1}$  and  $u_2v_2 \notin \overline{E_2}$  We have  $(\overline{\mu_1} \circ \overline{\mu_2})$ )(e) = 0Case(vi)  $e=(u_1,u_2)(v_1,v_2)$   $u_1v_1 \in E_1$  and  $u_2v_2 \notin \overline{E_2}$  Then  $e \notin E$ , so  $\mu(e)=0$  Also  $\overline{\mu}(e) = \overline{\mu_1 \circ \mu_2}(e) = 0$   $u_1v_1 \notin \overline{E_1}$  and  $u_2v_2 \notin E_2$ Then  $(\overline{\mu_1} \circ \overline{\mu_2})(e) = 0$ Case(vii)  $e=(u_1,u_2)(v_1,v_2)$   $u_1v_1 \notin E_1$  and  $u_2v_2 \notin E_2$  Then  $e \notin E$ , so  $\mu(e)=0$  Also  $\overline{\mu}(e)=0$  Then  $(\overline{\mu_1} \circ \overline{\mu_2})(e)=0$ Case(viii) e=(u<sub>1</sub>,u<sub>2</sub>)(v<sub>1</sub>,v<sub>2</sub>) u<sub>1</sub>v<sub>1</sub> € E<sub>1</sub>, and u<sub>2</sub>v<sub>2</sub> €  $\overline{E_2}$  Then e € E , so  $\mu(e)=0$  $\overline{\boldsymbol{\mu}}(\mathbf{e}) = \boldsymbol{\sigma}(\mathbf{u}_1, \mathbf{u}_2) \wedge \boldsymbol{\sigma}(\mathbf{v}_1, \mathbf{v}_2)$  $= [\sigma_1(u_1) \land \sigma_2(u_2)] \land [\sigma_1(v_1) \land \sigma_2(v_2)]$  $= [\sigma_1(u_1) \land \sigma_1(v_1)] \land [\sigma_2(u_2) \land \sigma_2(v_2)]$ Since  $u_1v_1 \notin E_1 \Rightarrow u_1v_1 \in \overline{E_1}$  $u_2v_2 \notin E_2 \Rightarrow u_2v_2 \in \overline{E_2}$ Hence  $(\overline{\mu_1} \circ \overline{\mu_2})(e) = \overline{\mu_1} (u_1 v_1) \Lambda \overline{\mu_2} (u_2 v_2)$ =[ $\sigma_1(u_1) \land \sigma_1(v_1)$ ] $\land$  [ $\sigma_2(u_2) \land \sigma_2(v_2)$ ]  $=\overline{\mu}(e)$ Thus from case (i) to (viii) it follows that  $\overline{Gs_{P}Gs_{2}} = \overline{Gs_{1}} \circ$ Gs2.

# 4. Conclusion

In this paper we have proposed, complement of strong fuzzy graphs, normal products of strong fuzzy graphs and the complement properties for tensor product of strong fuzzy graphs. In the fuzzy environment it is reasonable to discuss complement of strong fuzzy graphs and its properties.

## References

- [1] R.Balakrishnan and K.Ranganathan, A text book of Graph Thepry, Spinger, 2000.
- [2] P. Bhattacharya, Some remarks on fuzzy graphs, Pattern Recognition Letters 9 (1987) 159 -162.
- [3] A.Roseneld, fuzzy graphs, in: L.A.Zadeh, K.S. Fu, K .Tanaka, M.Shimura (Eds), Fuzzy sets and Their Applications to Cognitive and Decision Processes, Academic Press, New York, 1975, pp77-95.

- [4] A. Nagoorgani and Radha K , Some sequences in fuzzy graphs, Fat East Journal of applied Mathematics ,31(3) 321-325 2008.
- [5] J.N.Mordeson, & P.S.Nair, Fuzzy Graphs and Fuzzy Hyper Graphs, Physica Verlag (2000).
- [6] J.N.Mordeson, C.S.Peng, operation on fuzzy graphs. Information Sciences 79 (1994) 159-170.
- [7] A.Nagoorgani and V.T.Chandrasekaran, Fuzzy graph Theory, Allied Publishers pvt. Ltd.
- [8] Bhutani, K.R., On automorphism of fuzzy graphs, Pattern Recoganition letters 12 ;413-420, 1991.
- [9] Frank Harary , Graph Theory, Narosa /Addison Wesley, Indian student edition, 1988.
- [10] Blue M , Bush B, Puckett J, Applications of fuzzy logic to graph theory, 15 August 1997.
- [11] K.RBhutani, A, Rosenfeld , Strong arcs in fuzzy graphs, Information Sciences , 152 (2003), 319-322.
- [12] M. S. Sunitha, A. Vijaya Kumar, Complement of fuzzy graphs, Indian J, Pure and Appl, Math, 33 No 9 (2002), 1451-1464.

#### **Author Profile**

**Dr. M. Vijaya** is Head, Department of Mathematics Marudupandiyar College, Thanjavur-613403, Tamilnadu, India